
Solutions of puzzles by G. NAGY LÁSZLÓ

1. ALTERNATE CORNERS

A) B) C)

2.  JAPANESE
   PENTOMINO

2 1 3
1 1 1 2 3 1 1 1

2 1 2 2 4 1 1 1 2 2 1 4 3. ORDER IN THE COURT
3 2 2 2 2 1 3 1 1 1 1 1

1 3 1 A) 3 6 1 8 B) 4 5 3 7
3 1 1 3 5 1 9 1 9 8 9 9 9 9

1 1 2 1 1 1 9 1 1 1 1 9
1 3 1 7 9 9 1 9 2 1 9 1 9
3 1 3 4 1 9 1 1 6 9 9 1 1

1 1 1 1
1 2 4. BOYS

1 2 2 1
1 1 2 1 S L B J2 1 1

1 3 D A O E2 5
M N R G5. SNAKES

C I T K39 39

39 6. ABC

A) G A B C C B) D B B F C E
E E E F D D G G A C B

1 C E C C E C C A A F F
C D D A F F C H F C A

1 1 39 A B B A D H F B A D B
F D G H G F

1

7. ABC-CONNECTION

A) B)
F
E A B

B D
G F

C D
A C E B A

B F
D D

E G C A C G
F G E



8. SCRABBLE 9. DOMINO CROSS SUMS

A)
6 9 19

1 1
6

3 2 1M E L I S S A 22
V U D 14

4 5 5
7

2 5D A W N S O V 11
O H A R R I E T 15

1 1 4 4 5L J O A N O R 5
O N T R A C E Y 17

2 5 4 4 2E R N A N H L
E L A T O Y A L I S A 4 13 5 3 3 2S A R A H B Z D

M U T A M A R A 8 2 3 3 4 3 1P A T R I C I A R B
N E A B R E N D A
D N O R A A T B)
A O R A H E L 20 22 5 18

B E L I N D A 14
5 3 3 1 2 117

5 3 20 3 6 6 519
10. SMS 15 4 2 4 1 2 2 15
ROCK: CITY: CAR: 12 6 2 4 15 6 4 5STING LONDON ROVER 10
BEATLES CARACAS PORSCHE 22 5 5 3 2 3 4JAMIROQUAI WELLINGTON RENAULT 11
AEROSMITH CHICAGO LANCIA 21 6 6 6 3 1 4PRINCE SYDNEY SKODA

5 1 8 4 1 1 211. THE ABSOLUTE CLASSICAL

colour price owner
BMW SILVER 40.000 RODRIGO

FERRARI RED 120.000 ALBERTO
LAMBORGHINI BLACK 130.000 ROBERTO

LOTUS YELLOW 80.000 LUIS
MASERATI BLUE 60.000 PAOLO

12. ONE WORD WILL BE LEFT

DOLLAR is left. POUND
MARK LEI

YEN KUNA
LIRA REIS

PESO MANAT
DRACHMA RUBEL

CORDOBA LEK DONG AUSTRAL
CRUZADO SHEKEL FORINT LEVA
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